EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

FEREIE AR EEfir 0 N % $

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

& B 13342 13602 2260 -19.11 59 4.38 184 13.66 -125 -9.28 50 3.71 13 0.96 297 432 135 -10.02
EHEH 1331 1369 38 227.76 5 3.70 18 13.33 -13 -9.63 3 222 2 1.48 21 44 23 -17.04
EHE 4063 4135 Eh) -17.41 25 6.10 56 13.66 -31 -1.56 13 3.17 5 1.22 109 163 54 -13.17
HIEE 1323 1342 -19 -14.16 8 6.00 17 12.76 -9 -6.75 10 7.50 0 0.00 30 37 7 -5.25
MEE 1577 1595 -18 -11.29 5 3.15 21 13.24 -16 -10.09 8 5.04 2 1.26 38 49 11 -6.94
YHE 534 537 3 -5.59 4 747 8 14.94 -4 -1.47 3 5.60 1 1.87 14 19 -5 9.34
=HE 525 533 -8 -15.01 2 3.78 9 17.01 -7 -13.23 1 1.89 1 1.89 18 17 1 1.89
=fME 781 802 21 -26.18 3 3.79 10 12.63 -7 -8.84 1 1.26 0 0.00 15 21 -6 -1.58
=G 1572 1607 .35 21.78 4 oY) 20 12.58 -16 -10.07 7 4.40 0 0.00 % 40 _14 -8.81
JEPRE 616 635 -19 -29.92 2 3.20 14 22.38 -12 -19.18 2 3.20 2 3.20 13 16 3 -4.80
SEH 1020 1047 7 295.79 1 0.97 11 10.64 -10 -9.68 2 1.94 0 0.00 13 2% 13 -12.58

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

BEEHEHFEEBMIHRA AR R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

R E 109 E 12 AR EEfir 0 N % $

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T
Gz 13602| 13769 167 o 62 453 180] 1315 118|862 51 373 33 241 316 365 49 358
EHEH 1369 1376 7 -5.09 11 8.01 13 9.47 -2 -1.46 5 3.64 4 291 44 42 2 1.46
EHE 4135 4172 37 -8.87 26 6.26 50 12.04 -24 -5.78 25 6.02 8 1.93 103 125 22 -5.30
HIEE 1342 1360 _18 _13.24 2 1.48 24 17.76 22 -16.28 3 2.22 4 2.96 27 19 8 592
P 1595 1619 ol 4 9 560 14 8.71 5 3.11 7 436 5 3.11 4 53 16 996
DHE 537 547 -10 -18.28 3 554 6 11.07 -3 -5.54 1 1.85 0 0.00 7 14 7 -12.92
=HE 533 553 220 -36.17 2 3.68 8 14.73 -6 -11.05 2 3.68 2 3.68 11 29 11 -20.26
=RIE 800, 819 171 2076 1 123 2| 1481 11| -13.57 0 0.00 0 0.00 1 5 4 494
=G 1607 1609 D) 124 6 373 28 17.41 22 -13.68 0 0.00 7 4.35 42 33 9 5.60
JEPRE 635 655 220 -30.53 1 1.55 8 12.40 -7 -10.85 4 6.20 1 1.55 14 23 9 -13.95
SEH 1047 1059 12 -11.33 1 0.95 17 16.14 -16 -15.19 4 3.80 2 1.90 15 14 1 0.95
M ¢ LARBIHLERIG ST - BEENEHFBREEREHAR &3

2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -

3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -

3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -



EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

FERBEIRE LD AE Bfr: A% #

R | LD YRR B e e e HHEHR | HEErR

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

Gz 13769| 13997 3l 162 64 461 187| 1347 a3| 886 59 425 25 1.80 294 399 105 156
EHEH 1376 1405 29 220.64 4 2.88 17 12.23 -13 9.35 2 1.44 1 0.72 27 39 12 -8.63
EHE 4172 4174 ) 048 29 6.95 47 11.26 -18 -4.31 20 479 6 1.44 104 114 -10 -2.40
HIEE 1360 1373 -13 947 6 4.39 17 12.44 -11 -8.05 9 6.59 0 0.00 23 33 -10 -1.32
ik 1619 1643 ol a6l 9 559 u| 1471 15 9.20 5 3.07 7 429 35 39 4 245
DHE 547 566 -19 33.57 1 1.80 13 23.36 -12 -21.56 6 10.78 1 1.80 14 16 ) -3.59
=HE 553 564 -11 -19.50 2 3.58 9 16.11 -7 -12.53 1 1.79 3 5.37 12 11 1 1.79
=RE 819 845 226 3077 2 2.40 8 9.62 -6 -1.21 1 1.20 0 0.00 9 2 13 -15.63
=G 1609 1652 43 -26.03 2 1.23 23 14.11 21 -12.88 9 5.52 6 3.68 40 58 _18 -11.04
JEtkE 655 684 29 -42.40 6 8.96 12 17.92 -6 -8.96 2 2.99 0 0.00 7 31 24 -35.85
SEHE 1059 1091 39 -29.33 3 2.79 17 15.81 -14 -13.02 4 3.72 1 0.93 23 36 13 -12.09

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

BEEHEHFEEBMIHRA AR R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

HEREITELDRAE EEfir 0 N % $

FEERF1 | BRI YRR B o e s HHEHR | HEErR

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

o 13997| 14151 154 -10.88 83 5 g7 05| 1450 an| 843 56 3.96 17 1.20 381 413 4 221
EHEH 845 847 2 22.36 15 13.05 21 18.28 -6 -6.58 8 6.96 1 0.87 45 34 11 12.06
EHE 564 560 4 714 29 6.54 43 9.69 -14 -2.96 25 5.63 6 1.35 124 132 8 -1.69
b FE 1373 1395 ol 157 8 574 3| 1650 15| -1028 3 2.15 0 0.00 40 47 g 480
MEE 1405 858 547 637.53 14 8.45 19 11.47 -5 -2.98 4 2.41 2 1.21 39 60 21 -12.50
YDHE 4174 4728 5541 -117.17 3 594 9 15.73 -6 -10.34 3 5.24 2 3.50 16 15 1 1.72
=HE 1643 1683 40 03,77 1 1.75 10 17.51 -9 -15.40 3 5.25 1 1.75 20 10 10 17.11
=RIE 566 570 4 70 1 117 13| 15.18 12| -13.64 3 3.50 2 234 25 19 6 6.82
=G 1652 1708 .56 3279 6 355 31 18.34 25 -14.18 4 2.37 2 1.18 29 53 4 -13.62
JEtkE 634 687 3 437 2 2.88 9 12.95 -7 -9.49 2 2.88 1 1.44 ) 18 4 542
SEHE 1091 1115 24 1.5 4 358 27 24.17 -23 -19.89 1 0.90 0 0.00 21 95 4 -3.46

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

BEEHEHFEEBMIHRA AR R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

T EE R 106 £F 12 A& EEfir 0 N % $

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T
Gz 14151 14281 10l 9.0 73 514 04| 1435 131 9.05 52 3.66 2% 1.83 349 348 ) 0.07
EHE 847 868 21l 2419 3 343 2] 137 9 9.87 1 1.14 0 0.00 3 2 o 987
EHE 560 578 -18 31.14 33 7.00 55 11.67 22 -4.66 18 3.82 7 1.48 132 103 29 6.14
HIEE 1395 1415 20 -14.13 7 4.98 23 16.37 -16 -10.97 7 498 2 1.42 34 43 9 -6.17
MEE 858 893 .35 39.19 8 4.77 16 9.54 -8 -4.76 10 5.96 4 2.39 62 48 14 8.33
DHE 4728 4701 27 574 2 348 9 15.68 -7 -12.07 6 10.45 0 0.00 15 18 3 -5.17
=@E 1683 1670 13 778 3 597 0| 1757 7| -11.98 1 1.76 0 0.00 4 1 A -11.98
=ME 570 578 -8 -13.84 3 3.50 12 13.99 9 -10.23 1 1.17 4 4.66 15 28 -13 -14.71
Gl 1708 1729 21 -12.15 7 4.07 27 15.71 -20 -11.35 3 1.75 6 3.49 41 33 8 4.54
JEPRE 687 706 -19 226.91 2 2.87 14 20.10 -12 -16.27 1 1.44 1 1.4 11 17 6 -8.14
SEH 1115 1143 08 24.50 5 4.43 26 23.03 21 -18.16 4 3.54 2 1.77 29 95 3 -2.59
M | LARSIEERG /T oE - BT EHFBESFREHRAR &R

2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

FERBEISELDRAE Bfr: A% #

R | LD R B e e e HHEHR | HEErR

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

G 3 14281 14388 107 744 91 635 181| 1263 90|  -622 73 5.09 21 1.46 356 373 1l A7
EHE 868 903 34 -37.65 6 6.68 13 14.48 -7 -1.68 4 4.45 2 2.23 17 15 2 2.19
EHE 578 4702 -101 21.48 32 6.81 38 8.08 -6 -1.27 30 6.38 10 2.13 126 149 23 -4.87
HIEE 1415 1445 oY) -15.22 4 2.80 28 19.58 24 -16.45 8 5.59 2 1.40 36 29 7 4.80
PR 893 1664 14 841 12 790 19 1140 7 417 10 6.00 2 1.20 59 39 0 1190
YHE 4701 584 -8 -13.70 2 3.44 6 10.33 -4 -6.90 3 5.16 1 1.72 6 6 0 0.00
=HE 1670 576 4 -6.94 3 570 8 13.86 -5 -8.55 5 8.67 1 1.73 27 19 8 13.69
=RE 578 875 -14 -16.00 3 3.44 5 5.74 -2 -2.27 3 3.44 1 1.15 15 19 4 -4.55
=G 1729 1757 236 -20.49 13 746 34 19.51 21 -11.91 7 4.02 1 0.57 39 46 _14 -7.94
JEtkE 706 727 _14 -19.%6 7 9.77 12 16.75 -5 -6.78 2 2.79 1 1.40 10 20 ;100 -13.56
SEHE 1143 1155 -13 1126 9 7.83 18 15.67 -9 -1.78 1 0.87 0 0.00 78 31 3 -2.59

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

ERTEHEFEEHN &R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

FEREI4EDRAR EEfir 0 N % $

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

# 3 14388 | 14561 173 -11.88 71 53 175 12.09 98 -6.77 70 4.84 28 1.93 379 454 775 -5.18
EHEH 903 921 -18 -19.54 6 6.58 13 14.25 -7 -1.68 6 6.58 3 3.29 20 34 -14 -15.35
EHE 4702 | 4742 40 -8.44 31 6.57 38 8.05 -7 -1.48 28 5.93 3 0.64 139 172 -33 -6.99
HIEE 1445 1473 28 -19.01 4 274 15 10.28 -11 -1.54 7 4.30 3 2.06 33 47 9 -6.17
PR 1664 | 1697 | 1945 9 536 36| 2142 211 -1607 10 5.95 3 1.79 40 57 a1l 1012
DHE 584| 576 8 13.89 5 8.62 9 15.52 -4 -6.90 1 1.72 1 1.72 19 11 8 13.79
=HE 576| 593 17 08.67 2 349 12 20.53 -10 -17.11 1 1.71 3 5.13 14 16 b)) -3.42
=fME g75| 885 -10 -11.30 6 6.82 10 11.36 -4 -4.55 3 3.41 2 2.27 13 23 -10 -11.36
GRS 1757| 1768 11 6.2 5 2.84 19 10.78 -14 -1.94 8 4.54 6 3.40 54 47 7 3.97
JEtkE 727 748 21 28.07 5 6.78 14 18.98 9 -12.20 3 4,07 1 1.36 12 21 9 -12.20
SEHE 1155| 1158 3 22,59 4 3.46 9 7.78 -5 -4.32 3 2.59 3 2.59 35 31 4 3.46

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

ERTEHEFEEHN &R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

FEREI0BE LD AR EEfir 0 N % $

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

# 3 14561 | 14821 2260 17.54 80 545 183 12.46 -103 -7.01 58 3.95 41 2.79 384 541 -157 -10.69
EHE 921 955 34 -35.60 3 3.20 20 21.32 -17 -18.12 4 4.26 6 6.40 29 30 -8 -8.53
EHE 4742 | 4843 -101 20.85 29 6.05 45 9.39 -16 -3.34 19 3.96 10 2.09 107 206 99 -20.66
HIEE 1473 | 1495 DY) -14.72 8 539 22 14.82 -14 -9.43 5 3.37 1 0.67 31 47 -16 -10.78
PR 1697| 1711 14 818 11 6.46 16 9.39 5 2.93 5 2.93 6 3.52 53 70 a1l 998
YHE 576| 584 8 -13.70 1 1.72 10 17.24 -9 -15.52 1 1.72 1 1.72 20 15 5 8.62
=HE 503| 597 4 -6.70 4 6.7 9 15.13 -5 -8.40 2 3.36 3 5.04 19 17 ) 3.36
=fME g8s| 899 -14 -15.57 6 6.73 11 12.33 -5 -5.61 6 6.73 5 5.61 7 34 7 -1.85
=G 1768 | 1804 36 -19.96 11 6.16 26 14.56 -15 -8.40 6 3.36 4 2.24 41 62 91 -11.76
JEPRE 748 762 -14 -18.37 2 265 6 7.95 -4 -5.30 3 3.97 2 2.65 22 25 3 -3.97
SEH 1158 | 1171 13 -11.10 5 4.09 18 15.46 -13 -11.16 7 6.01 3 2.58 42 35 7 6.01

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

ERTEHEFEEHN &R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

FEREI2E LD AR EEfir AN %o B

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

# 3 14821 | 15058 237 15.74 70 4.69 143 9.57 -73 -4.89 65 4.35 26 1.74 386 550 -164 -10.98
=NE 89| 918 -19 220.70 5 5.50 9 991 -4 -4.40 5 5.50 2 2.20 26 45 -19 -2091
=HE 597 605 -8 -13.22 1 1.66 3 4.99 -2 -3.33 0 0.00 0 0.00 15 16 -1 -1.66
HIEE 1495| 1498 3 -2.00 10 6.68 17 11.36 -7 -4.68 6 4.01 2 1.34 45 40 5 3.34
EFHEH 955| 950 5 526 5 505 13 13.65 -8 -8.40 6 6.30 3 3.15 26 29 3 -3.15
EHE 4843 | 4945 -102 -20.63 18 3.68 39 197 21 -4.29 19 3.38 3 0.61 127 199 72 -14.71
PrE R 1711| 1706 5 203 8 4.68 14 8.19 -6 -3.51 9 5.27 7 4.10 61 7 11 -6.44
YHE 584| 600 -16 -26.67 1 1.69 4 6.76 -3 -5.07 2 3.38 0 0.00 16 23 7 -11.82
=G 1804 | 1842 38 -20.63 7 3.84 22 12.07 -15 -8.23 9 4.94 7 3.84 35 53 -18 9.87
JEPRE 7621 791 29 -36.66 4 515 11 14.17 -7 -9.01 4 5.15 2 2.58 12 23 11 -14.17
SEH 1171 1203 39 2926.60 11 9.27 11 9.27 0 0.00 5 421 0 0.00 23 50 97 -22.75

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

ERTEHEFEEHN &R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

HEREL0E12AR EEfir 0 N % $

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

Gz 15058 | 15223 165 1084 105 6.94 160| 1057 55 363 59 3.90 31 205 445 555 110l 72
=MH 918| 924 6 -6.49 8 8.60 14 15.20 -6 -6.51 5 543 1 1.09 30 8 4 4.34
=HE 605| 608 3 -4.93 3 4.95 8 13.19 -5 -8.24 0 0.00 2 3.30 32 26 6 9.89
ohiF 1498 | 1499 1 067 14 934 12 8.01 2 1.33 7 467 3 2.00 43 43 0 0.00
EHE 950| 968 18l -18.60 4 417 10| 1043 6| 626 6 6.26 0 0.00 7 40 13l 1356
EHE 4945 5029 -84 -16.70 34 6.82 49 9.83 -15 -3.01 21 4.21 7 1.40 152 210 -58 -11.63
TTEER 1706 | 1723 -17 9.87 8 4.67 15 8.75 -7 -4.08 7 4,08 5 2.92 46 69 23 -13.41
YHE 600| 605 5 826 7 11.62 7 11.62 0 0.00 1 1.66 1 1.66 12 17 5 -8.30
ECEL 1842|1852 20l 40 16 8 66 27| 1462 11 5.96 7 3.79 7 3.79 43 56 8 433
B 01| 804 13l 1617 5 677 10| 1254 5| 627 0 0.00 3 376 18 o 4 152
SEH 1203| 1211 8 -6.61 6 4.97 8 6.63 -2 -1.66 5 4.14 2 1.66 30 37 7 -5.80

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

ERTEHEFEEHN &R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

B EE R 100 £F 12 A& EEfir AN %o B

ALEREL | HAERELD A R — e s HEE | e

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

# 3 15223 | 15413 -190 -12.33 81 5.29 174 11.36 93 -6.07 76 4.96 27 1.76 472 569 97 -6.33
=MH 924 940 -16 -17.02 6 6.44 15 16.09 -9 -9.66 4 4.29 2 2.15 2%6 2%6 0 0.00
=HE 608| 616 -8 -12.99 6 9.80 5 8.17 1 1.63 4 6.54 1 1.63 20 28 -8 -13.07
HIEE 1499 1526 27 -17.69 6 3.97 26 17.19 -20 -13.22 7 4.63 1 0.66 41 45 4 -2.64
EFHEH 968 | 987 -19 -19.25 2 2.05 12 12.28 -10 -10.23 2 2.05 0 0.00 15 31 16 -16.37
EHE 5029 | 5082 53 -10.43 23 4.55 43 8.51 -20 -3.96 23 4.55 8 1.58 158 202 44 -8.70
TTEER 1723 | 1749 26 -14.87 11 6.34 19 10.94 -8 -4.61 8 4.61 3 1.73 61 78 17 -9.79
YHE 605| 615 .10 -16.26 3 4.9 7 11.48 -4 -6.56 6 9.84 2 3.28 20 ) D) -3.28
=G 1852 1852 0 0.00 15 8.10 24 12.96 9 -4.86 12 6.48 6 3.24 66 70 4 -2.16
JEPRE 804 813 9 -11.07 3 3.71 14 17.32 -11 -13.61 3 3.71 2 247 29 18 11 13.61
SEH 1211 1233 DY) _17.84 6 4.91 9 7.36 -3 245 7 5.73 2 1.64 36 49 13 -10.64

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -

ERTEHEFEEHN &R




EREHEHEALORRE - BRMITEWHE - 4 - LT - 558 - B - BA - BHEBRHEIERGETR

HFERBEVELDAE Bfr: A% #

FEERF1 | BRI YRR B o e s HHEHR | HEErR

B R | 5o | B A | AREE | T Hi T oy | B BANE | BHAK | Ty %
e | Dot | gEem | T ® | g | FEE | ey | T

4 3 15413 | 15579 1661 -1066 11 071 12 0.77 1 -0.06 4 0.26 7 0.45 40 47 g 045
=g 40| 947 7 739 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 3 A 4 106
=@ 616 597 9l 313 1 165 1 1.6 0 0.00 0 0.00 0 0.00 6 0 6 9.89
HIEE 1526| 540 -14 -9.09 0 0.00 3 1.96 3 -2.90 0 0.00 0 0.00 0 5 5 -4.84
E3 o87| 1014 27 2663 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 0 0 0 0.00
EHH 5082| 5160 .l 151 4 078 3 0.59 1 0.20 2 0.39 2 0.39 1 19 8 -156
R 1749| 1756 7 399 1 0.57 2 1.14 1 0.57 2 1.14 1 0.57 5 5 0 0.00
YOHE 65| 629 a4l 2906 1 L6l 0 0.00 1 1.61 0 0.00 1 1.61 0 1 4 -6l
=G 1852 | 1877 .25 -13.32 2 1.07 3 1.61 1 -0.54 0 0.00 1 0.54 ) 7 5 -2.68
JEtkE 813 818 -5 6.11 0 0.00 0 0.00 0 0.00 0 0.00 0 0.00 7 0 7 8.58
SEHE 1233| 1241 8 -6.45 2 1.62 0 0.00 2 1.62 0 0.00 2 1.62 6 6 0 0.00

S ¢ LARESIHERIG /TR -
2. BRI Bo=(F- A NB —FIETAB) -5 H F A IEEE)*1000 -
3ALEEMR b=(FB AN —FBHAB)-ZEA T AOEED*1000 -
3R RB=(HEB+BAR) —GECE + BHE) - BRRIB=MERE - ADEE*1000 -
4 p N\ORE=( LEFRAOE + AEFREAOE)2 -
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